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1. Deterriae the gererul solution of the crdinary SitferenLial equation (1751
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2.By use of Laplace Trapsferm, solve the following initel value problem (165%)

jf:”“*”r 2y=3, ¥y =02

1. Use residue caizilus ta evaluats the following integral (20493
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sinf), evatuare the following partie! dillerential prokliems and
express tha results i terms of ¢ and € (20%)
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4 If x=r cos8 and v=r
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5 Evaluate the Tasrer seties of thy wllowing funettons wilhi given intorval C12%0

{a) {(x) =e* inlie interval (-7,

(b) I{x} = e in Ihe Intcrval (0,2:7),

6. 1f A =L T (where T=xi+v;+rk), and I-—*E]‘.Hudi,whercsisa
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chosed surfase (15%0

) Determing the valve of Tif the origia paintis lacated irside the clozed surface =,
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(b} Delenming the value of Tif the ooigin point is ncated apisile the elassd surfoce 5
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